当堂检测（四）
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，正项等比数列
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满足
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2、△
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的内角
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（1）求角
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（2）若点
[image: image14.wmf]D

为边
[image: image15.wmf]BC

上一点，且
[image: image16.wmf]2

BDDC

=

，
[image: image17.wmf]BA

⊥
[image: image18.wmf]AD

，求角
[image: image19.wmf]B

．
_1561102638.unknown

_1561102642.unknown

_1561102644.unknown

_1561102645.unknown

_1561102643.unknown

_1561102640.unknown

_1561102641.unknown

_1561102639.unknown

_1561102634.unknown

_1561102636.unknown

_1561102637.unknown

_1561102635.unknown

_1561102632.unknown

_1561102633.unknown

_1561102630.unknown

_1561102631.unknown

_1561102628.unknown

_1561102629.unknown

_1561102627.unknown

